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@) 757 Gy
G1=({1,2,3}, {(1,2), (1,3), (2,3)}) 1
2 3
(2) 757 Ga
G=({1,2,3}, {{1,3}, {2,3}, {3}}) 1

(3) 3-1) B LD WS
G3=({1,2,3,4}, {a,b,c,de}, {(2,1,a),
(4,2,b), (3,1,0), (4,3,d), (2,3,e)})
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G3=({1,2,3,4}, {a,b,c.de}, D) P b ¢ d e
2,1) (4,2) (3,1) (4,3) (2,3)
(Bl fi)
G=({1,2,3,4}, {a,b,c,de}, 0*, O)
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(1) HZ77 Ga= ({1, 2, 3,4}, {(1,4), 3, 1), 3, 4), 4, 3)})

(2) W7 T7 Gs = ({1, 2, 3, 4}, {{1,3}, {14}, {2.4}, {3}})

1 4

2 (§3

(3) AmMZ 77 Gs = ({ab,c.de}, {1,2,3,4,5,6}, {(a,b,1), (bd,2), (c,b,3),

(d,c,4), (d,e,5), (c,b,6)})

(4) ®W 2777 Gr=({a, b, c, d e f},{1,2,3,4,5},0)

a—[ 1 2 3 4 5 J
| {a b} fa ¢} {ad) {a e} {af

13 B1EM2DT5T7 G hID G IZDL0VT, ROZFRIZ
BRI,

(1) BEeNV—T%2Fo0 T7 2 TEZR30,
G2, Gs

(2) WHLDEFF ST T 752 TE XTIV,
Ge

3) ISR AFF DT T 7% 2 TE RISV,
G4

4) NG = {1,2,3}

(6) degaa*(1) =1
(7) degoa(3) =1
(8) degca(4) =3

9 D degr(v)=1+1+4=6
ve(G2)

(10) Gi1u Ga=({1,2,3,4}, {(1.2), (1.3), (1.4), (2,3), (3,1), (3.4), (4.3)})
(11) G2 Gs = ({1,2,3}, {{1,3},{3}})
(12) G+ DAAT—AETE R D n L TR LS.
(3,4,3,1,4) BEW 3, 1,4,3,4)
(13) G3 DIV AEETE R LD n THAL TEEIR LS.

4,b,2,¢e,3,¢,1)

(14) Gs D178 (Incidence Matrix) Ies ARl L7eSVN. 7233, i1T)
FIHOEFZ, THR i 2350 j OEERLIT 1, EAR6IFE-1, 66T
HRTIULX 0 EELDBDET 5.

if -1 0 -1 0 o0
oo 2 -1 0 0 I
300 0 1 -1 -1
4 0 0 1 0

(15) G3 DEE#EITHI(Adjacency Matrix) Ags &Rtk L7aSV. 7233, i1T
JHVH ORI, THR i DDTHR j ~OUPEET H726I1E 1, 5T
FIUE 0 2L DET 5.

1 2 3 4
o o 0 o
Jm 210 10
310 0 0
40 1 1 0






